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PLAN1 97 37.6% 131 38.6% 38.2%
PLAN2 117 45.3% 149 44.0% 44.6%
PLAN3 44 17.1% 59 17.4% 17.3%
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PLAN1 69 38.8% 92 42.2% 40.7%
PLAN2 86 48.3% 93 42.7% 45.2%
PLAN3 23 12.9% 33 15.1% 14.1%
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PLANT 149 44.0% 44.0%
PLAN2 114 33.6% 33.6%
PLAN3 76 22.4% 22.4%
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PLANT 98 45.0% 45.0%
PLAN2 74 33.9% 33.9%
PLAN3 46 21.1% 21.1%
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PLAN1 99 38.4% 142 41.9% 241 40.4%
PLAN2 92 35.7% 100 29.5% 192 32.2%
PLAN3 67 26.0% 97 28.6% 164 27.5%
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PLAN1 63 35.4% 83 38.1% 146 36.9%
PLAN2 63 35.4% 63 28.9% 126 31.8%
PLAN3 52 29.2% 712 33.0% 124 31.3%
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